Simplifying Expressions (E)

Simplify each expression.

.avt+v—av—1+4+3v+4 6. bz+2b+1+4b— 72+ b*

b—bx+b*—bx—3bx—b 7. 72 4c+dct+c+1+6

cau+1—3u—u* —6a+6au 8. 2ac+1+ac+5a+a—2c*

b+ xXP b —1—bx+2b 9. 32 +xz—1+x*—1+1

=54 5x+5+x7+4x7 10 1+x>+1—x—1+1

Math-Drills.com




N

W

N

91

Simplifying Expressions (E) Answers

Simplify each expression.

av+v—av—1+3v+4
=4v+3

b—bx+b>—bx—3bx—b
= —5Sbx+b*

au~+1—73u—u> —6a+ 6au
= Tau—u* —3u—6a-+ 1

b+x>+b>—1—bx+2b
=xX>+b*—bx+3b—1

P —545x+5+x>+4x°

=22 +5x° +5x

6. bz+2b+1+4b— 72 +b*

10.

—bz—72+b>+6b+1

. Z4ct+dc+e+1+6

=72 +6¢+7

2ac+1+ac+5a+a—2c

= 3ac —2c* +6a+ 1

B3P xz—14+x2—14+1
= 2 +txz—1

l+x°+1—x—1+1
=x*—x+2
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